. VCE & PDF https://www.pass4itsure.com/c2010-597.html
g 2024 Latest passditsure C2010-597 PDF and VCE dumps Download

PassditSure.com

C2010-5979%As

IBM TRIRIGA Application Platform V3.2.1 Application Development

Pass IBM C2010-597 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/c2010-597.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest C2010-597 Dumps | C2010-597 Study Guide | C2010-597 Braindumps 1/3


https://www.pass4itsure.com/c2010-597.html
https://www.pass4itsure.com/c2010-597.html
https://www.pass4itsure.com/c2010-597.html

VCE & PDF https://www.pass4itsure.com/c2010-597.html
a 2024 Latest passditsure C2010-597 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

A developer adds a new state transition to a business object and now would like it add it to an existing form. What must
be done?

A. Click Find in the form to import existing state transitions.

B. Nothing, state transitions are automatically imported into a form.

C. Select Default Display in the state transition properties in Data Modeler.
D. Select Secondary Action in the state transition properties in Data Modeler.

Correct Answer: A

QUESTION 2

Which workflow type gets executed by an association of two objects?
A. synchronous workflow using temporary data

B. synchronous workflow using permanent data

C. asynchronous workflow using temporary data

D. asynchronous workflow using permanent data

Correct Answer: D

QUESTION 3

An editable report has been created with the name triPeople - triRetired - Editable. The report designer wants to allow
the user to be able to unretire multiple records. The designer has properly set the query to be editable and has selected
the proper state. When the designer goes to the query\\'s Advanced tab to set the actions that will be available to the
user, he finds that option is not available. What could be the problem?

A. The report has been created from the My Reports Tab.

B. There are no editable fields in the triRetired state so no actions are allowed.

C. The query is of type Report. Queries of type Report cannot be made editable.

D. The record is not editable for that state so no actions are available from the editable query.

Correct Answer: A

QUESTION 4

In the Data Modeler\\'s Association List what does a yellow highlight behind the association indicate?

Latest C2010-597 Dumps | C2010-597 Study Guide | C2010-597 Braindumps 2/3


https://www.pass4itsure.com/c2010-597.html
https://www.pass4itsure.com/c2010-597.html
https://www.pass4itsure.com/c2010-597.html

2024 Latest passditsure C2010-597 PDF and VCE dumps Download

E VCE & PDF https://www.pass4itsure.com/c2010-597.html

PassditSure.com

A. The association is used in a smart section.

B. The association is a dependent association.

C. The association is referenced by a locator field.
D. The association is referenced by a required field.

Correct Answer: A

QUESTION 5

Where does an onClick event get configured?

A. In the start condition of a workflow

B. In the properties of a tab in Form Builder

C. In the properties of a field in Form Builder

D. In the properties of a smart section in Data Modeler

Correct Answer: C
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